Number pairs *

Put an X at (3,2).

Put an X on this grid at each of these number pairs:
(L (1,9 39 @G0 (760 71,99 ©9 O @,1) (74 G4 G (1,1

10

0
1 2 3 4 5 6 7 8 9 10

Join the Xs in the same order.

Which capital letter have you drawn?
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Number pairs She

Put an X at (3,2).

1 2 3

Put an X on this grid at each of these number pairs:
(L) (1,9 G9 G0 @6 (79 09 O @) 749 G4 G (L1

10

0

1 2 3 4 5 6 7 8 9 10
Join the Xs in the same order.
Which capital letter have you drawn? H

If children complete the number pairs so that they form a capital letter H, they
understand the concept. If not, find any errors that they have made and help
them see what they did incorrectly.
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